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Q2.

Q3.

In figure point O is maintained zero volt and A, B, C and D are maintained at V volt. If all
resistors have same resistance R, then current through branch
A P B
S ‘*l | ‘i¥ I k Q

D R C
(a) OPis = (b) PQ is zera
.V .
(c) QR is R (d) SD IS

In the shown wire frame; each side of‘a-square (the smallest square) hasa resistance R. The
equivalent resistance of the circuitbetween the poifts A-and'B is™

(a) R (b) 2R (c) 4R (d) 8R

Figure consists two squares made of uniform wire of resistance per unit length A. Find out

equivalent-resistance between A and B. Side of large square is a.
A

al2 A\al2

al2 al2

al2 al2

a2V a2

(@) (ﬁ+21),1a

(b) 25
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Q5.

Q6.

Q7.
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() Y22

(d)V22a

A network of nine conductors connects six points A, B, C, D, E and F as shown. The figures
denote resistances in ohms. The equivalent resistance between A and D is

A

@ 1Q
(b)2Q
(c)3Q
d 40

A frame made of thin homogeneous wire is shown in-figure."Assume that the number of
successively embedded equilateral triangle with sides decreasing by half tends to infinity.
The side AB has a resistance R,. Find the equiyalent resistance between A andB.

&

A ’

o (S
) ()R
O

Ok

There is'an infinite wire grid with square cells. The resistance of each wire between
neighbouring joint connections is equal to R. Find the resistance of the whole grid between
points A and B.

[

e

(a)R

(b) R/2
(c)R/3
(d) R/4

Effective resistance between A and B is
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Qo.
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3 ohm 6 ohm
I I
I 2 ohm
2 ohm
A — I B
2 ohm
IZ ohm
— _——
6 ohm 3 ohm

(a) 35/72 ohm
(b) 72/35 ohm
(c) 17/36 ohm
(d) 36/17 ohm

Effective resistance between A and B is
18 ohm

A L

2'ohm

(a)-2.0hm
(b)'3 ohm
(cy60hm
(d) 4 ohm

Find the equivalent\resistance of the circuit between points A and B shown in figure is: (each

branch isofresistahce = 1Q2)

VY4

(@) 3 ohm

(b) 17/30 ohm
(c) 10/23 ohm
(d) 22/35 ohm

The figure shown a network of resistor each having value 12Q). Find the equivalent resistance
between points A and B.
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A
B

(a) 6 ohm

(b) 3 ohm

(c) 9 ohm

(d) 2 ohm

Q 11. Calculate equivalent resistance of the network between points Aand D .

AA
vy

A B
(a) 3R/5 \
(b) 5R/7
(c)R
(d) 2R
Answer Key
Q.1 ab,d (Q2 b Q3 b Q4 a Q.5 d
Q.6 b Q7 b Q.8 ¢ Q.9 d Q.10 c

Q.1l1lc
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